MATHEMATICS: ORDER OF OPERATIONS DEMO (D-3)
EXPRESSIONS WITH 10 NUMBERS

Name:

Time: Score:

33)

23 — (—=73) — 44+ (—92) =35 x 0 = 9= (—100) =2+ 10 =

O0X (=7)+(—=6)—10+10449+(=7)— (=2) x (=7)—(—11) =

2466 x0+(—9)x3x (—1)+0=1=(=2) = (—84) =

36)

19+ (=) 4+0—50=10x (—9) +6 x 4+ 58 — 51 =

37)

85+ (—93) + 472X 0+ 6 X 8 X (—5) =40 + (=75) =

38)

10+ (—40) x 0 x 1 x (=21) x 30+ (—6) — 24 = (—6) x 0 =

39)

164 (—34) — (=9) — (—18) —21 X 20+ (—4) X 24+ 6+ (—4) =

40)

3x1+4+21—-83468 —(—6)+ (—70)+50+5+(—15) =
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